

Pay Estimate Created Date: September 16, 2024

Progress Estimate 5	e Number	Contract ID 240119-F02 Pay Period StartSeptember 2, 2024 Original Contract Amount Prime ContractorN.B. West Contracting CompanyPay Period End September 15, 2024 Net Change Order Amount Current Contract Amount Current Contract Amount									
Approval Date								By User			
September 16, 2024			Generated and A	(and should be considered	d Draft) at th	ne Project Office Level by	stgemr1				
September 16, 2024	ber 16, Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by										
September 17, Reviewed and Approved at the Central Office Controllers Office Level 2024											
Original Comple	etion Date	Current Co	mpletion Date	Actu	al Completion Date	% o	f Current Contract Amount	Complete			
November 1	2024	Novemb	per 1, 2024				16.68%				
	Cont	ract Informational Da	tes		Milestones						
Date Description	n Origi	nal Completion Date	Current Completion Date		No Milestones Exist for	Contract					
Acceptance Date											
Awarded Date	Febru	uary 14, 2024	February 14, 2024								
Letting Date	Janua	ary 19, 2024	January 19, 2024								
Notice to Proceed D	ate Marc	h 11, 2024	March 11, 2024								
Open to Traffic Date											
Work Began Date											

Contract Total Pay For Estimate No. 5			
	This Estimate	Previous	To Date
240119-F02			
Total Posted Items Pay	\$176,433.17	\$144,173.60	\$320,606.77
Gross Item Adjustments	(\$41,765.87)	\$41,765.87	\$0.00
Incentive	\$0.00	\$0.00	\$0.00
Disincentive	\$0.00	\$0.00	\$0.00
Liguidated Damage	\$0.00	\$0.00	\$0.00
Other Contract Adjustments	\$0.00	\$0.00	\$0.00
,		\$185,939.47	\$320,606.77
Contract Total Payable This Estimate:	\$134,667.30		

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J6S3630	0080	6169901	MISC.LUMP SUM TEMPORARY TRAFFIC CONTROL	LS	\$20,000.000	0.5	\$10,000.00
	0090	6169902	MISC.NTCIP COMPLIANT CHANGEABLE MESSAGE SIGN, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	EA	\$3,000.000	4	\$12,000.00
	0100	6181000	MOBILIZATION	LS	\$128,000.000	0.25	\$32,000.00
	0190	9031010	CONCRETE FOOTINGS, EMBEDDED	CUYD	\$2,300.000	3.05	\$7,015.00
	0200	9031210	STRUCTURAL STEEL POSTS	LB	\$7.000	752.31	\$5,266.17
	0210	9031220	PIPE POSTS	LB	\$8.000	1,150	\$9,200.00
	0220	9031241	BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL TUBE)	EA	\$425.000	4	\$1,700.00
	0230	9031250A	U-CHANNEL POST, 3 LB	LF	\$20.000	117	\$2,340.00
	0240	9031270A	2 IN. PSST POST - 12 GA.	LF	\$20.000	1,213.2	\$24,264.00
	0250	9031271A	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	EA	\$200.000	102	\$20,400.00
	0260	9031272A	2.25 IN. PSST POST INSERT (6 FT.) - 12 GA.	EA	\$100.000	4	\$400.00
	0270	9031280	2.5 IN. PSST POST - 12 GA.	LF	\$24.000	483.7	\$11,608.80
	0280	9031281A	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	EA	\$280.000	30	\$8,400.00
	0290	9035004A	SH-FLAT SHEET	SQFT	\$24.000	309.6	\$7,430.40
	0300	9035011A	ST-STRUCTURAL	SQFT	\$36.000	117	\$4,212.00
	0310	9035069A	SHF-FLAT SHEET FLUORESCENT	SQFT	\$26.000	776.8	\$20,196.80



Pay Estimate Created Date: September 16, 2024

Progres	ss Estir 5	nate Number	Contract ID Prime Contrac	240119-F0: t or N.B. West (2 Contracting C	Pay Period StartSeptember 2, 2024 ompanyPay Period End September 15, 2024	Original Contr Net Change Or Amount Current Contra	rder g	\$0.00
Project Number					Item Descrip	tion Unit	Unit Price	Current Installed Qty	Current Installed Amount
Project 、	J6S363	0 - Total							\$176,433.17
Overall ·	- Total								\$176,433.17
ontract A	Adjustm	ents This Esti	mate						
		tments Exist on							
ne Item /	Adjustr	nents This Est	<u>imate</u>						
Project Number	Line No.	Item De	escription	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustmen amount
6S3630	0080		MISC.	Material			-0.5	\$20,000.00	(\$10,000.0
0800			MISC.	Material		This adjustment offsets the original syste generated Material Payment Estimate Ite Adjustment (0002) due to user stgerr overridding Payment Estimate Exception 1 the current Payment Estima	em Ir1 on	\$20,000.00	\$10,000.00
	0090		MISC.	Material			-4	\$3,000.00	(\$12,000.0
	0090		MISC.	Material		This adjustment offsets the original syste generated Material Payment Estimate Ite Adjustment (0003) due to user stgerr overridding Payment Estimate Exception 2 the current Payment Estima	em ir1 on	\$3,000.00	\$12,000.00
	0220		AY ASSEMBLY ATED SQUARE STEEL TUBE)	Construction Stockpile		Payment Estimate Item Adjustment generat Stockpile Transacti			(\$1,092.0
	0230	U-CHANN	IEL POST, 3 LB	Construction Stockpile		Payment Estimate Item Adjustment generat Stockpile Transacti			(\$698.4
	0240	2 IN. PSST	POST - 12 GA.	Construction Stockpile		Payment Estimate Item Adjustment generat Stockpile Transacti			(\$12,204.7
	0250		POST ANCHOR PSST - 12 GA.	Construction Stockpile		Payment Estimate Item Adjustment generat Stockpile Transacti			(\$5,212.2
	0260		POST INSERT (6 FT.) - 12 GA.	Construction Stockpile		Payment Estimate Item Adjustment generat Stockpile Transacti			(\$248.6
	0270	2.5 IN. PSST	POST - 12 GA.	Construction Stockpile		Payment Estimate Item Adjustment generat Stockpile Transacti			(\$5,659.2
	0280		POST ANCHOR N. PSST - 7 GA.	Construction Stockpile		Payment Estimate Item Adjustment generat Stockpile Transacti			(\$3,024.0
	0290	SI	H-FLAT SHEET	Construction Stockpile		Payment Estimate Item Adjustment generat Stockpile Transacti			(\$3,065.0
	0300	ST	-STRUCTURAL	Construction Stockpile		Payment Estimate Item Adjustment generat Stockpile Transacti			(\$2,094.3
	0310		F-FLAT SHEET	Construction Stockpile		Payment Estimate Item Adjustment generat Stockpile Transacti			(\$8,467.1



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

						Contract Project Information	1
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J6S3630	FAS S503(32)	Resurface	N	FRANKLIN	from Route 30 to Route	O south intersection and fro	om Route O north intersection to end of
otals by .	Job Numbe	ers					
J6S3630	Dente	d Hans Davi			This Estimate	Previous	To Date
		d Item Pay Item Adjustm	ents		\$176,433.17 (\$41,765.87)	\$144,173.60 \$41,765.87	\$320,606.77 \$0.00
		j.		Item Pay	\$134,667.30	\$185,939.47	\$320,606.77
	Incen	tive			\$0.00	\$0.00	\$0.00
		centive			\$0.00	\$0.00	\$0.00
		lated Damages			\$0.00	\$0.00	\$0.00
	Other	Contract Adju	istments		\$0.00	\$0.00	\$0.00

Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J6S3630, Item 6169901, Project Item Line Number 0080, Material Set 6169901, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Inspector to enter sample record before next estimate.	stgemr1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3630, Item 6169902, Project Item Line Number 0090, Material Set 616990296, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Inspector to enter sample record before next estimate.	stgemr1	Overridden



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
240119-F02	J6S3630	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$50,000.00	\$0.00
		0001	0020	3105003	GRAVEL (A) OR CRUSHED STONE (B)	3,669.00	0.00	3,669.00	SQYD	0.00	\$10.50	\$0.00
		0001	0030	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	11,734.00	0.00	11,734.00	TONS	0.00	\$90.00	\$0.00
		0001	0040	4071005	TACK COAT	12,093.00	0.00	12,093.00	GAL	0.00	\$2.50	\$0.00
		0001	0050	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$0.01	\$0.00
		0001	0060	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	1,078.30	0.00	1,078.30	TONS	0.00	\$120.00	\$0.00
		0001	0070	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	6,669.80	0.00	6,669.80	SQYD	0.00	\$12.00	\$0.00
		0001	0080	6169901	MISC.LUMP SUM TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.50	\$20,000.00	\$10,000.00
		0001	0090	6169902	MISC.NTCIP COMPLIANT CHANGEABLE MESSAGE SIGN, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	4.00	0.00	4.00	EA	4.00	\$3,000.00	\$12,000.00
		0001	0100	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.25	\$128,000.00	\$32,000.00
		0001	0110	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	54.00	0.00	54.00	LF	0.00	\$20.00	\$0.00
		0001	0120	6200033	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER	2.00	0.00	2.00	EA	0.00	\$1,500.00	\$0.00
		0001	0130	6200042	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES	16.00	0.00	16.00	EA	0.00	\$100.00	\$0.00
		0001	0140	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	106,986.00	0.00	106,986.00	LF	0.00	\$0.14	\$0.00
		0001	0150	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	95,319.00	0.00	95,319.00	LF	0.00	\$0.13	\$0.00
		0001	0160	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	1,231.00	0.00	1,231.00	SQYD	0.00	\$10.00	\$0.00
		0001	0170	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	6,520.00	0.00	6,520.00	SQYD	0.00	\$10.00	\$0.00
		0001	0180	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$0.01	\$0.00
		0040	0190	9031010	CONCRETE FOOTINGS, EMBEDDED	3.10	0.00	3.10	CUYD	3.05	\$2,300.00	\$7,015.00
		0040	0200	9031210	STRUCTURAL STEEL POSTS	880.00	0.00	880.00	LB	752.31	\$7.00	\$5,266.17
		0040	0210	9031220	PIPE POSTS	1,150.00	0.00	1,150.00	LB	1,150.00	\$8.00	\$9,200.00
		0040	0220	9031241	BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL TUBE)	4.00	0.00	4.00	EA	4.00	\$425.00	\$1,700.00
		0040	0230	9031250A	U-CHANNEL POST, 3 LB	339.00	0.00	339.00	LF	339.00	\$20.00	\$6,780.00
		0040	0240	9031270A	2 IN. PSST POST - 12 GA.	2,988.00	0.00	2,988.00	LF	2,988.00	\$20.00	\$59,760.00
		0040	0250	9031271A	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	248.00	0.00	248.00	EA	248.00	\$200.00	\$49,600.00
		0040	0260	9031272A	2.25 IN. PSST POST INSERT (6 FT.) - 12 GA.	4.00	0.00	4.00	EA	4.00	\$100.00	\$400.00
		0040	0270	9031280	2.5 IN. PSST POST - 12 GA.	846.00	0.00	846.00	LF	846.00	\$24.00	\$20,304.00
		0040	0280	9031281A	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	50.00	0.00	50.00	EA	50.00	\$280.00	\$14,000.00
		0040	0290	9035004A	SH-FLAT SHEET	623.00	0.00	623.00	SQFT	623.00	\$24.00	\$14,952.00
		0040	0300	9035011A	ST-STRUCTURAL		0.00	117.00	SQFT	117.00	\$36.00	\$4,212.00
		0040	0310	9035069A	SHF-FLAT SHEET FLUORESCENT	1,841.00	0.00	1,841.00	SQFT	1,841.00	\$26.00	\$47,866.00
		0070	0320	7040163	CONCRETE CRACK FILLER	1,284.00	0.00	1,284.00	SQYD	1,284.00	\$19.90	\$25,551.60
					ate as of Report Generated Date							\$320,606.77
40119-F02 Ove	rall - Total	Value Post	ed to Da	te as of Repo	ort Generated Date							\$320,606.77



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J6S3630

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0080	6169901	MISC.	9/13/24	9/16/24	0.50	LS	Route N @North/South segment	424+67		690+00		First partial payment of total lump sum
0090	6169902	MISC. TRAFFIC CONTROL DEVICES	9/13/24	9/16/24	4.00	EA	Route N at both the North and South Segments on each end.	424+67		690+00		
0100	6181000	MOBILIZATION	9/13/24	9/16/24	0.25	LS	Route N @North/South segment	424+67		690+00		First partial payment of total lump sum
0190	9031010	CONCRETE FOOTINGS, EMBEDDED	9/13/24	9/16/24	0.89	CUYD	Route N signs 311,312,314	810+06		811+43		
				9/16/24	1.08	CUYD	Route N sign #247A	424+32				
				9/16/24	1.08	CUYD	Route N signs 3,4,6	0+31		2+48		
0200	9031210	STRUCTURAL STEEL POSTS	9/13/24	9/16/24	167.31	LB	Route N sign #314	811+43	RT			
				9/16/24	585.00	LB	Route N sign #247A	424+32	RT			
0210	9031220	PIPE POSTS	9/13/24	9/16/24	447.78	LB	Route N posts 311 and 312	810+06	LT	810+17	RT	
				9/16/24	702.22	LB	Route N signs 3,4,8	0+31	LT	2+48	RT	
0220	9031241	BREAKAWAY ASSEMBLY (PERFORATED SQUARE	9/13/24	9/16/24	2.00	EA	Route N sign 243	420+67	RT			
		STEEL TUBE)		9/16/24	2.00	EA	Route N sign 310	808+74	RT			
0230	9031250A	U-CHANNEL POST, 3 LB	9/6/24	9/16/24	104.00	LF	Signs 215-221	260+00		424+00		
			9/13/24	9/16/24	13.00	LF	Route N sign 248	690+10	RT			
0240	9031270A	2 IN. PSST POST - 12 GA.	9/6/24	9/16/24	467.90	LF	Signs 181-189,192-199,201,203-210,212,222,223,227,228,231,233,234 and 240.	260+00		424+00		
			9/13/24	9/16/24	745.30	LF	Route N @North/South segment	691+10	RT	799+08		This quantity represents the total lump sum remaining for this line item.
0250	9031271A	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	9/6/24	9/16/24	37.00	EA	Signs 181-189,192=199,201,203-210,212,222,223,227,228,231,233,234 and 240.	260+00		424+00		
			9/13/24	9/16/24	65.00	EA	Route N @North/South Segment	690+10		799+08		This quantity represents the total lump sum remaining for this line item
0260	9031272A	2.25 IN. PSST POST INSERT (6 FT.) - 12 GA.	9/13/24	9/16/24	2.00	EA	Route N sign 243	420+67	RT			
				9/16/24	2.00	EA	Route N sign 310	808+74	RT			
0270	9031280	2.5 IN. PSST POST - 12 GA.	9/6/24	9/16/24	258.80	LF	Signs 190,191,200,202,211,212,224,225,229,230,232,235-239.	260+00		424+00		
			9/13/24	9/16/24	224.90	LF	Route N @North/South segement	690+10		799+08		This quantity represents the total lump sum remaining for this line item
0280	9031281A	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	9/6/24	9/16/24	15.00	EA	Signs 190,191,200,202,211,212,224,225,229,230,232,235-239.	260+00		424+00		
			9/13/24	9/16/24	15.00	EA	Route N @North segment	420+67		808+74		This quantity represents the total lump sum remaining for this line item.
0290	9035004A	SH-FLAT SHEET	9/6/24	9/16/24	69.00	SQFT	Signs 193,194,201,212,222,223,234 and 240.	260+00		424+00		
			9/13/24	9/16/24	240.60	SQFT	Route N @North/South segments	690+10		812+17		This quantity represents the total lump sum remaining for this line item.
0300	9035011A	ST-STRUCTURAL	9/13/24	9/16/24	117.00	SQFT	Route N signs 243, 247A, 310	420+67	RT	808+74		
0310	9035069A	SHF-FLAT SHEET FLUORESCENT	9/6/24	9/16/24	373.00	SQFT	Signs 181-192,195-200,202-211,213-221,224-233 and 235-239.	260+00		424+00		
			9/13/24	9/16/24	403.80	SQFT	Route N @North/South segment	690+31		799+08		This quantity represents the total lump sum remaining for this line item

<u>The information below this line are details for Construction Signs (if applicable).</u> No Data Available



Line Item Adjustments by Estimate

Contract ID: 240119-F02

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3630	0080	MISC.	Material		5	Sep 16, 2024	SYSTEM	\$10,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user stgemr1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					5	Sep 16, 2024	SYSTEM	(\$10,000.00)	
				- Total				\$0.00	
			Material - Tot	al				\$0.00	
	0080 -	Total	,					\$0.00	
	0090	MISC. TRAFFIC CONTROL DEVICES	Material		5	Sep 16, 2024	SYSTEM	\$12,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user stgemr1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					5	Sep 16, 2024	SYSTEM	(\$12,000.00)	
				- Total				\$0.00	
		Materia		al				\$0.00	
	0090 -	Total						\$0.00	
	0220	BREAKAWAY ASSEMBLY (PERFORATED	Construction Stockpile		5	Sep 16, 2024	SYSTEM	(\$1,092.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		SQUARE		- Total				(\$1,092.00)	
		STEEL TUBE)	Construction	Stockpile - 1	Fotal		_	(\$1,092.00)	
			Construction Stockpile STMI		1	Jul 15, 2024	SYSTEM	\$1,092.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			0 mil	- Total				\$1,092.00	
			Construction	Stockpile S	TMI - Total			\$1,092.00	
	0220 - 1	Total						\$0.00	
	0230	0 U-CHANNEL POST, 3 LB	Construction Stockpile		4	Sep 3, 2024	SYSTEM	(\$1,325.34)	Payment Estimate Item Adjustment generated Stockpile Transaction
					5	Sep 16, 2024	SYSTEM	(\$698.49)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$2,023.83)	
			Construction	Stockpile - 1	rotal			(\$2,023.83)	
			Construction Stockpile STMI		1	Jul 15, 2024	SYSTEM	\$2,023.83	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$2,023.83	
			Construction	Stockpile S	FMI - Total			\$2,023.83	
	0230 -							\$0.00	
	0240	2 IN. PSST POST - 12 GA.	Construction Stockpile		4	Sep 3, 2024	SYSTEM	(\$17,854.49)	Payment Estimate Item Adjustment generated Stockpile Transaction
				T . 1	5	Sep 16, 2024	SYSTEM	× · · · ·	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$30,059.28)	
			Construction	Stockpile - 1			0)(0777)	(\$30,059.28)	
			Construction Stockpile STMI	Total	1	Jul 15, 2024	SYSTEM	\$30,059.28	Payment Estimate Item Adjustment generated Stockpile Transaction
			Construction	- Total				\$30,059.28 \$30,059.28	
	0240	Total	Construction	Stockpile S	rwn - Total				
			Construct"		4	Ser. 0	OVOTEN	\$0.00	Doumant Estimate Item Adjustment accorded Ot 1, 11, 7, 11
	0250	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12	Construction Stockpile		4	Sep 3, 2024	SYSTEM	(\$7,460.60)	Payment Estimate Item Adjustment generated Stockpile Transaction Payment Estimate Item Adjustment generated Stockpile Transaction
		GA.		- Total	5	Sep 16, 2024	SYSTEM	(\$5,212.20)	, , , , , ,
			Construction		[otal				
			Construction Stockpile	-otoexpile -	1	Jul 15, 2024	SYSTEM	(\$12,672.80) \$12,672.80	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total	2024		\$12,672.80		
			Construction		TMI - Total			\$12,672.80	
				-otockpile S	rwi - Total			φ12,072.00	



Line Item Adjustments by Estimate

Sep 18, 2024

Contract ID: 240119-F02

oject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
3630	0250 -	Total						\$0.00	
	0260	2.25 IN. PSST POST INSERT (6 FT.) - 12 GA.	Construction Stockpile		5	Sep 16, 2024	SYSTEM	(\$248.64)	Payment Estimate Item Adjustment generated Stockpile Transaction
		(011.) - 12 0A.		- Total				(\$248.64)	
			Construction	n Stockpile - 1	Fotal			(\$248.64)	
			Construction Stockpile STMI		1	Jul 15, 2024	SYSTEM	\$248.64	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$248.64	
			Construction	n Stockpile S	TMI - Tota			\$248.64	
	0260 -							\$0.00	
	0270	2.5 IN. PSST POST - 12 GA.	Construction Stockpile		4	Sep 3, 2024	SYSTEM	(\$4,238.91)	
					5	Sep 16, 2024	SYSTEM	(\$5,659.29)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$9,898.20)	
				n Stockpile - 1				(\$9,898.20)	
			Construction Stockpile STMI		1	Jul 15, 2024	SYSTEM	\$9,898.20	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$9,898.20	
			Construction	n Stockpile S	TMI - Tota			\$9,898.20	
	0270 -	Total						\$0.00	
	0280	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7	Construction Stockpile		4	Sep 3, 2024	SYSTEM	(\$2,016.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		GA.			5	Sep 16, 2024	SYSTEM	(\$3,024.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$5,040.00)	
			Construction	n Stockpile - 1	Fotal			(\$5,040.00)	
			Construction Stockpile STMI		1	Jul 15, 2024	SYSTEM	\$5,040.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$5,040.00	
			Construction	n Stockpile S	TMI - Tota			\$5,040.00	
	0280 -		0 1 1			0 0	OVOTEN	\$0.00	
	0290	SH-FLAT SHEET	Construction Stockpile		4	Sep 3, 2024	SYSTEM	(\$3,102.66)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total	5	Sep 16, 2024	SYSTEM	(\$3,065.04)	Payment Estimate Item Adjustment generated Stockpile Transaction
			Construction	1 Stockpile - 1	Total			(\$6,167.70)	
			Construction	-otockpile-	1	Jul 45	SYSTEM		Boumont Estimate Item Adjustment generated Stackville Trans-
			Stockpile STMI	- Total	1	Jul 15, 2024	STOTEM	\$6,167.70 \$6,167.70	Payment Estimate Item Adjustment generated Stockpile Transaction
			Construction	1 Stockpile S				\$6,167.70	
	0290 -	Total	Construction		- Total			\$0.00	
	0290 -	ST- STRUCTURAL	Construction Stockpile		5	Sep 16, 2024	SYSTEM	(\$2,094.30)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$2,094.30)	
			Construction	1 Stockpile - 1	Total			(\$2,094.30)	
			Construction	- Stockpile - 1	1	Jul 15,	SYSTEM	(\$2,094.30)	Payment Estimate Item Adjustment generated Stockpile Transaction
			Stockpile	Total	1	2024	STOTEM		Payment Estimate tiem Aujustment generated Stockpile Hansaction
				- Total				\$2,094.30	
			Construction	n Stockpile S	IMI - Total			\$2,094.30	
	0300 -							\$0.00	
	0310	SHF-FLAT SHEET FLUORESCENT	Construction Stockpile		4	Sep 3, 2024	SYSTEM	(\$11,599.78)	Payment Estimate Item Adjustment generated Stockpile Transaction
					5	Sep 16, 2024	SYSTEM	(\$8,467.12)	Payment Estimate Item Adjustment generated Stockpile Transaction



Line Item Adjustments by Estimate

Sep 18, 2024

Contract ID: 240119-F02

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3630	SHEET		Construction Stockpile	- Total				(\$20,066.90)	
		FLUORESCENT	Construction	Stockpile - 1	otal			(\$20,066.90)	
			Construction Stockpile		1	Jul 15, 2024	SYSTEM	\$20,066.90	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$20,066.90	
			Construction	Stockpile S	MI - Total			\$20,066.90	
	0310 -	Total						\$0.00	
	0320	CONCRETE CRACK FILLER	Material		2	Aug 2, 2024	SYSTEM	\$25,551.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user hamilk2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					2	Aug 2, 2024	SYSTEM	(\$25,551.60)	
				- Total				\$0.00	
			Material - Tot	tal				\$0.00	
0320 - Total								\$0.00	
J6S3630 -	Total							\$0.00	
Overall -	Dverall - Total							\$0.00	



There are no contract adjustments to display for this contract.